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QUESTION 1

DRAG DROP 

Match the types of cyber-attack with their respective description. 

Select and Place: 

Correct Answer: 
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QUESTION 2

What determines if a user, device, application, or process is allowed to access a service or a resource? 

A. auditing 

B. authorization 

C. authentication 

D. accountability 

Correct Answer: B 

 

QUESTION 3

Where is the index stored after an archiving operation? 

A. Archive storage 

B. Archive server 

C. Backup server 

D. Media server 

Correct Answer: A 

 

QUESTION 4

A full backup of a production volume is created on Sunday, and incremental backups are created for the rest of the
week. What are the contents of the backup on Thursday? 

A. all the data on the production volume 

B. all the data that has changed since Wednesday 

C. all the data that has changed since Sunday 

D. all the data that has changed since Monday 

Correct Answer: C 

 

QUESTION 5

What is true for a software-defined network? 

A. physical switches and routers dependent on the underlying network 

B. physical switches dependent on the underlying network 
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C. virtual switches dependent on the underlying network 

D. switching and routing of the network traffic independent of the underlying network 

Correct Answer: C 

 

QUESTION 6

Which method of storage redundancy protects against drive failure? 

A. Caching 

B. Vaulting 

C. RAIN 

D. RAID 

Correct Answer: D 

 

QUESTION 7

What is orchestration? 

A. automated arrangement, coordination, and management of various IT functions 

B. capability of unified controller to process block-level, file-level, and I/O requests concurrently 

C. moving inactive data out of primary storage systems into lower-cost storage systems 

D. sharing of the storage resources to increase storage utilization 

Correct Answer: A 

 

QUESTION 8

Which cloud service model allows the deployment of consumer-created applications on the provider\\'s infrastructure? 

A. Platform as a Service 

B. Infrastructure as a Service 

C. Disaster recovery as a Service D. Software as a Service 

Correct Answer: A 

 

QUESTION 9

Which component of SDDC generates the billing report based on price per unit and number of units consumed for a
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service? 

A. Orchestrator 

B. Directory Services 

C. Self Service Portal 

D. SDDC Controller 

Correct Answer: C 

 

QUESTION 10

The operating time of a system is 24 hours per day, Monday through Saturday. Failure of the system occurs as follows. 

Monday: No failure Tuesday: 5 A. M. to 7 A. M. Wednesday: No failure Thursday: 4 P.M. to 8 P.M. Friday: 8 A. M. to 11
A. M. Saturday: No failure 

What is the MTBF of the system? 

A. 3 hours 

B. 8 hours 

C. 45 hours 

D. 56 hours 

Correct Answer: A 
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